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Topic:- Child Development & Pedagogy (CDP)

1) A textbook portrayed boys as intelligent and leading characters while girls as meek and

emotional. This is an exampleof __. /WW%W@W GﬁTm
T, Saf$ asfhdl &t 79 3R HIa-Td® v | fafyd fean ag G|

SaTE &

1. Gender stereotype / folar ®fgarfear
2. Gender discrimination / folaT g

3. Gender identity /foiT GHE®TAT

4. Gender sensitivity / ToiaT GdeaTeferdr

Correct Answer :-

« Gender stereotype / Tol?T ®fgarfedn

2) Two parallel railway lines of a track appear to meet after a certain distance. This is an

exampleof ./ wﬁ%@%mﬁmwmﬁ%mﬁ
Reaé wsdt El gHOTET SEERO 21

1. Muller- Lyer illusion / TeR— oITIX &
2. lllusion of perspective / IRET FH

3. lllusion of movement / 3T ¥

4. Optical illusion / TTSC 38T

Correct Answer :-

« lllusion of perspective / TRET HH

3) Autismis a ./ ﬁﬁww %I
1. Attention Deficit Hyperactivity disorder/ &IT-3{HId sffaafhadr faeR
2. Bipolar disorder/ E‘(ﬁ%ﬁ PR (FEuter 3E31ER)




3. Oppositional defiant disorder/ TaT&Y ﬁ?\_g AR (3rTSrersTe f3the %Q:ﬁlé'{)
4. Neuro development disorder. / a-ZISI e TR

Correct Answer :-

» Neuro development disorder. / o-?3|3| IGEZLMEEIEY

4) A teacher can diagnose a child's consistent failure in school performance as: / & ﬁl‘&’ﬁF, ﬁa:mmr
F ygdid # T T I AGR FAPAAT HT 9T 5T T & o9 T &

1. A concern needs to be escalated to higher management / 3Td gae & fow ™ar & Ela'lﬁ' &r
TIIHAT &l

2. Adisciplinary problem / 3{eIRMTHeTcHS HATATI

3. A learning disability or special education need / 3T 31eradar ar fadw forem &r
3T B

4. A need to change school /ﬁa:ql?‘l'&l' deolel T TaTShdT gl

Correct Answer :-

¢ Alearning disability or special education need / 3TTRIRTH 37T a1 AW A& &r
TIIHAT &l

5) Blind memorization is called ./ 3T THIOI (scATS3 AARTSAU) FgaTdl
gl

1. Recitation / ¥R UId

2. Rote learning / I&at CART 37T

3. Meaningful learning / 3T ?fl'fj'\Usf 31T
4. Repetition / g?-lTIT:lj?I’

Correct Answer :-

« Rote learning / I&=T GEIRY 3TETH

6) Which of the following is the correct order in lesson plan? / fFafaf@a H A F
UISTHA AT H TE HA 2

1. Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ W—W-FWUT -
AT - T8 THIGRH
2. Motivation-Presentation-Evaluation-Recapitulation-Home Assignment / QTU'IT-‘Q??:I)FCT-

Holiehel-JoAYSIOT- T FHTCUT



3. Motivation- Recapitulation -Evaluation- Presentation -Home Assignment/ 90TI- gﬂ'q\GﬂWUT
-FeAThA-TEIT - I[E THGCUA

4. Presentation - Motivation -Evaluation- Home Assignment — Recapitulation/ 91—7:!}% - OROT-
Hodichel- I THACUA - JeTenel

Correct Answer :-

« Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ W-mﬁf-@m -
HeAIHH - 8 YHER

7) The method of study used by Behaviorists was: / Wm GART 9 TG Y
ugufa o

1. Survey/ TAGTOT

2. Introspection/ 3TTcHTALTETOT
3. Case study/ g Tesr

4. Observation/ 3Tdcliehe]

Correct Answer :-

« Observation/ 3Tdcllehel

8) The religion to which the individual child belongs is part of the . g s sgfFara

goaT At gar ¥ 98 @ R g
1. Inheritance / a'?ﬂ?:l;ﬂ?l?ﬂ

2. Prenatal environment / Wg\?:‘r gTaROT

3. Social environment / ETHATTT TITGLOT

4. Physical environment / Hifas gatazor

Correct Answer :-

« Social environment / AT gATAIOT

9) Personality tests must be/ ﬂ'ﬁ'—dﬁ' W&&TUT o E’I?lT T'-IT%U':
1. Gender biased/ foivT gearat

2. Have as many questions as possible./ e O J¥F 9T arer
3. Reliable and valid / faRaei 31X a&r

4. Innovative / SATARY



Correct Answer :-

« Reliable and valid / faRa=ig 3R qer
10) During the process of child development, / §= & Q%ra &Y fhar & gha,

1. Specific functions are followed by general functions. / Taferse PR, AT FEAT & &6 FY S0
J

2. Both general and specific functions happen simultaneously. / ITHT 3R fafdrse FT il Th
Y g gl

3. General functions are followed by specific functions. / HIHT=T F, fafse st & a1 FY Fa
gl
4. General and Specific functions are not dependent on one another. / HIHT 3R fafdse F 7 -

Y WX AT T §
Correct Answer :-

» General functions are followed by specific functions. / HTHCT F, fafse st & a1 FF Fa
gl

11) Dalton Plan does not have:/ 3Teed VSTl (STees Tolel) & AT &:
1. Self-paced learning / T&F HG=AT

2. Time table / FHI-JROT

3. Co-operation / TEINAT

4. Freedom / EadFdT

Correct Answer :-

« Time table / GHAI-FROTT

12) Understanding what is right and wrong forms part of the development. / H?I' ik

I i A e, T e &1 e
1. Cultural / W

2. Social / HTHATTT

3. Moral / sifcieh

4. Vocational / SITAHTRIH

Correct Answer :-

e Moral / ?\‘T?W



13) According to Maslow, which of the following needs are referred to as the Deficiency Needs? /

AT F AR, faeer smaegsarst & & 5@ FAt f naegwar F 9 F JET SATAT
¥

1. Belongingness, Esteem, Safety, Self-actualisation / 3911961, HTI T, QleTa:lT , m—ﬁaﬁr

2. Safety, Belongingness, Esteem, Self-actualisation / X&TT, 39elTqeT, H-IcT, 3‘“(“H'm

3. Physiological, Belongingness, Esteem, Self-actualisation / ?ﬂﬂﬁ?ﬁ, Y9I, AT AT, 3‘||(‘H-m

4. Physiological, Safety, Belongingness, Esteem / QIRI TR, GI&TT, 3YeATeT, ATl

Correct Answer :-

« Physiological, Safety, Belongingness, Esteem / TRIR e, Y&, AT, ATl

14) According to Erik Erikson an individual goes through developmental stages. / &

wREET & IER, WF ARG AwEens awol ¥ T R ¥
1.7
2.9
3.4

4.8

Correct Answer :-

15) How are learners who do a task with performance as the goal are characterized?/ &g &

# ugel & AT 0F FF F gt RanfiAy fr fervar w2 82

1. They engage in work to do better than others./ & ngql T dgdR A & T FIA H Holdod
g Bl

2. They see mistakes as an opportunity to learn/ & IATTAT H WA o 3T & & & ¢@d
gl

3. They want to be seen as smart and intelligent/ ¥ THTE 3R TFSER G@=T 18 £l

4. They compare and judge their performance with others / a Q\Q:II'I & G 3797 Wt &r Jeldl
Fd & 3R sTF FoT A B

Correct Answer :-

o They see mistakes as an opportunity to learn/ g AT & @ & a8 & & H ¢@d
gl



16) A child is unable to learn a new way to play Uno because he has already learned a different set
of rules. What could be the reason for this? / Teh ST Fell Teld & [T TH AT dlT
dEa & Iwwd § FIfF a7 ed ¥ & srerer A @ g ¥l FHHT FAT FROT @
qhdl 8?2

1. Spontaneous recovery / Hgol gﬂ'm
2. Retroactive interference / trtm’ﬂg@’r Y
3. Proactive interference / y?ﬁmg@’r Ay

4. Delayed effect / TaelfFad gHTa

Correct Answer :-

» Proactive interference / 3-1311?131@' Ay

17) A child says that his friend who is 5 feet tall may be older than his uncle, who is only 4 feet tall
.This approach of interpreting age by height of an individual can be attributed to a child in

/U I=dT FgdT ¢ F 3TFT S Y 5 P €T §, 98 A9 I/ § 937 & GHhdT 8,
ST Faer 4 Hie oar &1 7 FFT Y IS Y ATEAT WA F 3H TReHIOT FY
# Iod # OFAGR sg0dT ST §FhaT gl

1. Formal operational stage / W TihaTdHD AR
2. Sensorimotor stage / TAIATCT AT

3. preoperational stage / q;é' AfhdTcAs 37aeam

4. Concrete operational stage / H\T‘T TihdTcas 3raedr

Correct Answer :-

 preoperational stage / Clt\é' AfhdrcAs 3aTam

18) Which of the following does not negatively affect prenatal development? / ffaf@a & @
FT oA & 99 1 arel AT & TFReAs & @ wonfda 7gt wtar 8?2

1. Caffeine / FhIeT
2. Exercise / <IATH

3. Alcohol / T

4, Radiation / Tafesgor

Correct Answer :-

o Exercise / <ITATH



Which of the following is not a type of prelinguistic speech? / ffaf@a & ¥ sld & R
&1 NfefFaftes = ad &7

1. Cooing / fradmT

2. Babbling / dSd3TaT

3. Telegraphic speech / Tl ther HTYOT
4. Crying / T

Correct Answer :-

« Telegraphic speech / CollalTtheh HTYOT

20) Which of the following is an example of fine motor skill? / frafaf@a & @ sl 3chtc
AT Fherer FT T e §?

1. Climbing / de-l
2. Hopping / W HAT
3. Running / EﬁgFIT
4. Writing / IGECGIN

Correct Answer :-

« Writing / for@er

21) What is the part of memory that stores previous experience? / Wﬁ' %1 gg fevar o Mo
HIHT P FAET FIAT §?

1. Procedural memory / BIERIREED FF[%

2. Non-declarative memory / 3R-GTYUTcaSH Hil"%
3. Semantic memory / 3T ) Fﬁlfcf

4. Episodic memory / A& T3 (TTUHEIT3H) Hzlcﬁ'

Correct Answer :-

 Episodic memory / SIFsIEICT (Uﬁ@%aﬁ) Q-T([ﬁ

22) What is the term used to denote a thinking strategy that may lead to a solution, but also may

causeerrors?/wmﬁﬁ'ﬁmm*mmmﬂmmm
¥ 3t wET & wedh 3, wiq et ARt o o @ ¥

1. Intelligence / ﬂaﬁ'



2. Syllogism / W (RreafaeH)

3. Algorithm / TealRUHA

4. Heuristic / m@% (Tad: Qe

Correct Answer :-

« Heuristic / W?:ID'Q:IT%EF (Tad: ae)

23) What is experiential education? / HJHAIcHS foraTr & %?

1. A curriculum with well defined students learning path / Teh YTOIshH a3 dg q oEl
& 3fAere @1 AET gk §)

2. An educational philosophy based on the idea that learning occurs through experience / Teh QIGED

el 8 TauR W IR § fob e, 3787 & AEIH F gl g
3. It is learning through experiments / Jdg 3-]73'3431' & ATETH O 3TIH %'l

4. Learning through continuous practice / TeRd¥ 378 & 3T&aTe|

Correct Answer :-

« An educational philosophy based on the idea that learning occurs through experience / Ueh QIRED
el 38 fauR W 3miRd § & 3ifter#, 3reqsra & Aegs 4 g g

24) What characteristics are depicted by permissive parenting? / ﬂﬂm CICCEE L) -CIRY
Fla-dt fadyae R g §2

1. High warmth, high control / 3=d 3cHlg, 3Td IGRENS

2. High warmth, low control / 3Td 3c@Tg, oot fz=or

3. Low warmth, high control / GE=s 3cdlg, 3=d IGREM

4. Low warmth, low control / [o7eT 3camg, a1 fSg=or

Correct Answer :-
« High warmth, low control / 3T 3cdTg, oo AI=oT

25) Who among the following does not propose a developmental theory involving stages of

development?/mﬂ'ﬁ' ¥ Faa e & =IOy @ @?ﬁmﬁm Co) JEqd
gt frar?

1. Freud / BIIs

2. Bandura / atg'gr



3. Piaget / TOTSY
4. Erikson / TR

Correct Answer :-

e Bandura / EI?\TI'

26) People with linguistic intelligence possess? / HIYTS gaﬁmm ¥ U9 cafFaar H Hia-dt
&THaT gl &2

1. sensitivity to numerical patterns/ J&ATcH S qaf-]ﬁ & 9fa Hagereireldr

2. abilities to produce rhythms/ STI/dTel §ellel T &THI

3. appreciation of the forms of musical expressions/ Tofta &1 fFcafaaar & w4t r
AIMGeAT

4. sensitivity to the sounds, rhythms and meanings of words/ €afa¥, oIa/drel 3R ersai & 31t
& vfd ddgerefrerar

Correct Answer :-

« sensitivity to the sounds, rhythms and meanings of words/ €afe¥, oII/dTel 3R eMeGT o 37 ot
& gfd ddgeTefrerar

27) What is the main purpose of state certification of teachers? / f¥atr Y
TS TATUTIT &oF FT HET 3667 FT 872

1. To exclude from the profession those who are mentally unhealthy/ o AFRIP U I 3G % 3%
U ¥ §18 H3 & o]

2. To exclude from the profession those not trained in pedagogy/ f&memEs #
gfATeTd &l 8leT dlel &l 9T F 8T Il & [T |

3. To monitor the quality of teacher training institutes/ fr&Ter gfreTor FEUT=Ar Fr
I[OTaAT T fAIRTAT |

4. To provide for a uniform standard of entry-level teacher competency throughout
the state/ X TT H YA T & A&Th JFIAT AT Teh A Hloleh Y&l e
& o

Correct Answer :-

« To provide for a uniform standard of entry-level teacher competency throughout
the state/ X T H JAA TR & R&Teh ATAAT &l Teh FHATT HleAsh FeTel el
& o




28) Which of the following tests involves the analysis of stories and interpretations of the

underlying personality? / ﬁ'&lﬁl‘@ﬁ qﬂ&ruﬁ ﬁ' -\q' 'ﬁ”'_\qﬁ GHﬁ%H GEI%IE a’ﬁ'
HIal R ARS3i &1 fazawor e giar g2

1. Thematic Apperception Test / TaST 3TcAaET GLT&ToT

2. Ink-Blot Test / TATGI-saT GLI&T0T

3. Word Association Test / QT6¢ T8 II&T0T (35 TAITATLA ¢¥C)
4. Story Telling Test / Yl dIdd TRteqor

Correct Answer :-

. Thematic Apperception Test / TaWT 3TcHSETT TLI&TOT

29) Which of the following is correct sequence of motivation? / fFfeIRad A BT
RO HT T HH 3?2

1. Drive, need , goal directed behavior, goal achievement, drive reduction / Q'U'ﬂ?(, JATAGhdT, oI&d
ERIT caagR, o 3qafsy, yoie g4

2. Need , drive reduction, goal directed behavior, goal achievement, drive / 3ITdRIhdT, quile &14,
&g AT cuaeR, &g 39afsy, guilg

3. Need ,drive, drive reduction ,goal directed behavior, goal achievement, / ITdThdT, §|'U'ﬂa', gule
&g, ol&d feard Sdg, oi&d 3Ty

4. Need ,drive, goal directed behavior, goal achievement, drive reduction / 3TdIhdT, Q'U'ﬂ_c\", of&a
ERIT cgagR, o 39afst, yoie g4

Correct Answer :-

e Need ,drive, goal directed behavior, goal achievement, drive reduction / 3TdThdT, Q'U'ﬂ?{, of&a
ERIT cgagR, o 39afsty, yoie g

30) Which of the following describes relevance in relation to a new topic?- / fAgferfad A

P TP ¢ fauy & Yoo § urHfiedr &1 qui &ar 82

1. The perception that something is worth knowing/ AT & TEI;_EE 1)1 2 M | R %’

2. A real life situation / Ueh aTEATdeh Sitdel el U

3. A story related to the topic/ vy & Feafaa e Fglal

4. Same for all learners in any context/ et oY dee & e Renfdat & v go=

Correct Answer :-

o The perception that something is worth knowing/ 3T 033 ATl I §



Topic:- General Hindi (L1GH)

1) ueht 3R e

Y YITaH & SPA &,

St U HETew §

TR HEISY &I 9T §

T4 Al §9 el ud §
R St @18 ffgar
U, 419, urt ok ugTS
gad g1

g ol $ad Ig 3ipd &
& e 3= ot =t

O O Y Gy Werdt B
3R 98 WY ga1 ¥ 4 g
gfgr) 3 gl R Rkt &
3R TP S BT HIY
GEY X | U

TP ARAT §1

ITYe Ui P U A YD WF aTd U= P Sk gad1s¢|
UR: BIA A WA & STHd B g frad #1132

1. Shdel &l

2. hdel dGel

3. €AY

4. 98l 3R arger a&r

Correct Answer :-

. gglt 3R s g

2) Ugdl S fhed STeHSRT 991 aTal fheeR & SRR TH. T 3ERR A 1929 # gidigs #t
TS gied e ‘2 die’ 3t iR 39 1 | diad fived I 3 571 ot | TR T & T deig
ATeH Bl YR FATHI I8 U1 fFeH F) UeH YT 915 | 5T ATch & $3 M1 Ul & i fbed # @ g
Y| TF ey | SRR A I 9ad Hal YT-'§HR UTH I Adlg aWP Tt UI, MaeR 71 4T, Tifiaer
T8t YT 31 Ta@! weTd gL 0t SRR A few & T & g W #Y ¢A T+t e & Wifta A wew
AN arer-aaen, sRAAEH 3R arafer &1 swauTa far | AT IRT # WdeR a1 MaeR # WdT
U A fodt &1 7w =18 519 | 59 fihed A ugd unae 99 S5, TH. @1 YA T AT- 'S S Gl
P 9 W WR, 3R ¢4 B apa g1’

ST T BT UgHR A1 I TT YR BT Ik JarsC|
U: 399 A DI G § 918 BT SUPRVT 151 o2

1. grafereT

2. THeX

3. ddell



4. gRATATH

Correct Answer :-

3) UGl qierdt e STAHSRT g9 aTdt freaaR ¥ SRR TH. WL SRR 7 1929 H gidigs i
TP Jedt e ‘20 die’ 35t iR 39 01 # diad! fived 391 3t 571 ot | IR T & ue |
ATeH B YR FATHY B U FFT Bt UeH YT 15| 59 AAICP & H3 A wul & o frea A o forw
Y| U §eveg | SGRR A I I Hg1 U1-'5UR UTH $IS Walg a@d gl o1, Masr 78l 41, Siitaer
T AT 31 HaB! w1 g1 A1 SRR A fived & T & e T a1 Y gt | fived & wifla & wew
9 arg-aaen, sRUFET R Irafed 1 sxaura farar wan e IRT # wiftaer ot faer § @
U I fodt &1 7w =18 s19 7| 59 fihed A ugd U IS 99 S, TH. W1 U AT T YT- 'S S el
F TN R WR, 3R A P apd g1’

IUYE TR DI UG 19 IR T U= HT @R qad1s¢|
UH: MTAHIIRT fhed & ek 42

1. GIel TG 3GRR TH. $T0=ir

2. .t et

3. JTAAE

4. 3¢ .UA G

Correct Answer :-

4) ygelt Sierd fFed STAHSRT 9911 a1d fPaTaR 3 3ERR Th. T SRR A 1929 # gicligs &1
TSP giad! fber 20t die’ & 3R I9% 79 A e fbed 991 F1 3371 w1l | R {HE & TP dip g
ATe® P ATYR FATHR IaI MU e B UeH YT FT3 | 3T ATCP & B M+ Ul & i e # o forg
Y| TP ey | SRR A I 9ad Hel YT-'THUR U I Adlg aWd et oI, MaeR 71 4T, Tifiaer
TR AT 31 B! AT g1 A1 ERR A fived & A & o T ot ¢ it | fieeq & wifta & wew
A arer-aaen, sRATAEH 3R arafer &1 gwawTa fBar | AT IRT # WideR a1 Maer # WdT
U A fodt &1 7w =8 519 | 59 fhed A ugd unae 99 S5, TH. @1 UgdT AT AT- ' S gl
P 9 W WR, 3R ¢4 B apa g1’

ITYe TR BT Ugh 19 IR T U= HT S«iX gd13¢|
T: ST S fireH B UedH YT ST 3MYR ST UT?
1. 9T R &

2. 30 | FIg e

3.99% PR &

4. IREAY WIHT & T llhiIT ch

Correct Answer :-

o QAT WHET & Th Alhi9T dAlcah



5) Ugd! diad! fher SMaHSRT S99 aTd fihea®R & SRR TH. I SRR A 1929 H gidigs &t
T died fibed 2 die’ 35 3R 3% A9 # Sied fred T &t 5931 Tt | UR) TE F TP dieig
ATe® P ATUR TATHR I8i MU fher B UeH YT FT3 | 3T ATeP & B M+ <4l & i e # o forg
Y| TP ey | SRR A I 9ad Hel YT-'THR UTH I Adlg a9 ot oI, MaeR 71 o1, Tifiaer
TR AT 31 B! AT g1 A1 ERR A fived & T & o T ot ¢ it | fived & wifta & wegwr
A arer-aaen, sRATATH 3R arafer &1 swawTa far | AT IRT # WideR a1 MaeR # WdT
U A fodt &1 7w =g 519 a1 59 fihed A ugd w99 S5, TH. @1 UgdT T AT- ' S el
P 9 W WR, 3R 34 B apa g1’

Sy TN B UgH} H OB 7T U $T SR Iargy|

T: b flber B ST W TeTgR SRR R0 &1 dierd! fhe a7 3 301 842
1. $F¢ 3% 337

2.9 T

3.51H @ I gl

4. °SH

Correct Answer :-

. AT §IC

6) UGl diad! fFed STEHSIRT 914 a1at fheraR A SRR TH. A1 ERR A 1929 # gicligs #t
T Sied fibed 2 die’ & 3R I9% 79 # e fbed 791 &t 5931 Tt | U TE & v iy
e Bl YR FATHI I8 U1 fFeH FY UeH YT 915 | 5T ATch & $3 M1 w4l & i fbed # @ g
Y| U $evey # SRR A I 9ad Hel YT-'gHR UTH B3 Jdle A et ol, Maer 7Y o1, Thiaer
TG YT 31 Ta@! Jw3Td gt At SRR A fhew & T & g wad #Y yA T+t e & Wfta A wew
T are-daan, SRATH 3R arafed ST SaHTd fRaT AT AT 3RT # FiaeR a1 Maer # Wax
U I fodt &1 1w =18 s19 a1 59 fihed o ugd unsae 99 S5, TH. @1 UgAT T UT- ¢ S el
F M W WR, 3R 31 &I ared g1’

ST TR BT UgHR -1 TS TT YA BT I} Ja1sq|
W: Ut diadt fhed 82

1. JTSTHIRT

2. ar drar ST

3.3H ¥ HIg LT

4. 7ot gRedg

Correct Answer :-

7) Ugeh Sierdt fhed ek a9 a1d fFeaR A SRR T, I SRR A 1929 | gidigs #t
TP qiad! fer 20t die’ ¢ 3R 3% 79 A e fibed a9 $t 3071 Wl URA [He & U aieig
ATCH B YR FATHI I8 U1 fheH P UeH YT 915 | 59 ATch & Ps M Ul & & ftbed A @ g
Y| TP ey H SRR A I 9ad Hel YT-'§UR U I Jdlg AW et ol, Maer 781 o1, Tfiaer
T AT 31 FaB! w1 g1 A1 ERR A fived & T & e Tad a1 ¢ gt | fived & wifta § wew



AN arer-aaen, sRAATH 3R arafer &1 swauTa far | AT IRT # WdeR a1 MaeR # WdT
U A fodt &1 7w =8 519 | 59 fihed A ugd unae 99 S5, TH. @1 UgdT AT AT- ' S el
P 9 W WR, 3R ¢4 B apa g1’

Suded TN B UgH} H IR 7T YR $T SR Iargy|
TR: 01 BT @ arend 82

1. AT

2.3 3R A

3.8 9§
4,3 &Y g

Correct Answer :-

8) Ugdl dadt fFed SMEAHSRT 991 aTat fheraR A SERR TH. R AIRR 7 1929 # glefigs o
T qied fibed 2 die’ & iR 3% 7 # e fbed 791 &t 5931 71t | uRf) TvE & v ey
e Bl YR FATHI 381 U1 fFeH FY UeH YT 915 | 5T ATcd & $3 M1 w4l & i fbed # @ g
Y| UF $evey # SRR A I gad Hel YT-'gHR U B Jdle A el ol, Maer 7Y o1, Thaer
T AT 31 HaB! weTd g1 At SRR A fived & A & e Tad @t ¢ gt | fived & wifta § wew
A are-daa, SRAATH 3R araferd &1 SaHTd fRar T AT 3RT # TiaeR a1 Maer # Wax
U I fodt &1 7w =8 s19 | 59 fihed o ugd unsae 99 S5, TH. @1 U dT T UT- 'S S el
F 9 W WR, 3R 4 B aIPpa g1’

ST TR DI UgHR -1 TS TT YA BT Ik Jarsq|
wz: it &1 faa reg 372

1. gafd

2. 30

3. 9%

N

4. AT

Correct Answer :-

9) UGl Fierdt fher ATAHSMRT I aTat freAPR ¥ SRR TH. WL SRR 7 1929 H Ficiigs i
TP dierdl fibed 2 die’ 3 8iiR 3% 14 # el fbed a9 &t 531 it | uRfY Tiw & v el
ATCH B YR FATHY I8 U1 fhed P UeH YT 915 | 59 ATch & Ps M1 Ul & i ftbed A @ g
Y| TP ey | SRR A I 9ad Hel YT-'§HR U B Jdle AW ot ol, MaerR 781 o1, Tifiaer
T AT 31 HaB! FHATd g1 A1 ERR A fived & T & e Tad ot ¢ gt | fived & wifta & wew
N arer-daan, sREATH 3R araferd &1 sxauTa forar T e IRT # TiideR a1 Maer # wWax
¥u 9 foelt 1 7w 1) 310 M| 59 e | uge urdrae §9 S, TH. W | UgET T AT- 'S & Gl
F W R WR, 3R 1 $ ardpd g1’

IUE T DI UgH -9 IR TT U= HT @R qad1s¢|
u=: e &1 ward wreg 82



1. BIHT
2. st
3. T
4. Tarm

Correct Answer :-

10) gl diad! fihed STAHSRT 9 a1dt freraR A SRR TH. R 3ERR 7 1929 # gicligs ot
TS diad! firer 2 die’ T 8l 39 14 A Sad! fivew a9 Y sw1 it uRet S & e ae g
ATe® P ATYR FATHR I814 U e B UeH YT §9T5 | 3T ATCP & B M Ul & i e A o forg
Y| TP S B SRR A 39 994 Fgl 4T-'§HR U I3 Halg aWP gl o, MapR 7 41, Siider
T AT 39 FaB! FHaATd BT A SRR 7 fived & T & e w@d ot ¢ Tt fived & il & wew
T arer-aaan, sRWATY 3R arafeq &1 swaTa farar w1 s o1 ® Wifider ar faer o wds
U & et o1 7 g s1en Tt 59 fhew ® g us e 99 S, TH. @ | Ug T YT- 'S § gal
F I R WR, 3R 3 Pt arbd g1’

ITYE TR B UgH 19 IR ¢ U= HT I«iX gd15¢|
WRA: ‘Tedyr fry faur I wwEfia 82

1. 3 q

2. QAT

3. dAlcehT

4. oA

Correct Answer :-

. e

11) Ugel dierd! fhed STEMSIRT S ardl frer®R A SRR T, 11 SRR 7 1929 # giefigs Ft
T Sied fibed 2 die’ 35 3R 9% 7 # e fred 791 &t 5931 7t | U} TE & v ey
e Bl YR FATHI 381 U1 fFeH $Y UeH YT 915 | 5T ATch & $3 M w4l & i ftbed # @ g
Y| U ey # 3ERR A I 9ad Hel YT-'§UR UTH B Jdle A el ol, Maer 7Y o1, Thaer
TG YT 31 Ta@! Jw3Td gL At SRR A fhew & T & g W #Y ¢A T+t v & Sifta A wew
AN arer-aaen, sRAATH R arafer &1 swuTa far a1 AT IRT # WideR a1 Maer # WdT
U A fodt &1 1w =18 s19 | 59 fihed o ugd unTae 99 S5, TH. @1 UgdT T UT- ¢ S el
F 9 W WR, 3R ¢4 B aPpa g1’

ST TR BT UgHR A1 TS TT YA BT Ik Jarsq|
2 freTeR T f5d v 9 71 32

1. HR

2. 3HR

3.5H @ I oAl

4. oA



Correct Answer :-

12) Ugd! Siad! e SMaHeRT s ard fireaaR & 36K TH. ST 3ISRR A 1929 H gidigs ot

TP Siad! fber ‘20t die’ & 3R I9% 74 A Fae fibed 9911 B 35371 o1l | YR T & TP dlp g
ATCH B 3MMYR TATHR IBIA U fheH Pt UCHYT 1E | 59 ICP & Hs T Ul & & fired A & forw
Y| TP S B SGIRR A 39 9ad Fgl UT-'§HR U I Hdlg aWP gl JT, Mapr 78 41, Siiaer

TR AT 31 B! AT g1 A1 ERR A fived & T & fore T ot ¢ gt | fived & wifta § wew

AN arer-aaan, sRWATH 3R araferd &1 sxauTa farar mar| e RT # TifideR a1 Maer # wWax

U & et o1 7w g s1en Wt 59 fhew ® g uns e 99 S, TH. @ | UgE T AT- 'S § gal

F 91 W WR, 3FR A B aIpa g1’

ITYe TR BT Ugh 19 IR T U= HT SR gd15¢|
R "uiTae {59 wed 82

1. 395 ¥ HIs a1

2.3 9 & fow amar §)

3.3 9¢ & W T gl

4.3 9¢ & 9IS & 0T gl

Correct Answer :-

o ST 9 & S @ a7 g

13) Ugell dierd! fibed STEHIIRT S aTdl frereR A 3ERR T, 11 SRR 7 1929 # giefigs Ft

T Sied fibed 2 die’ & 3R I9% 79 # e fbed 791 &t 531 7t | uRf) TE & v ey
e Bl YR FATHI I8 U1 fFeH FY UeH YT 915 | 5T ATch & $3 M w4l & i fbed # @ g
Y| U ey # 3ERR A I 9ad Hel YT-'gHR UTH B Jdle A et oT, Maer 7Y o1, Thaer

TG T 31 Ta@! Jw3Td gL 0t SRR A frew & T & g wad #Y ¢A g+t v & Sfta A wew

A TTE-daaT, TRATH 3R arafer ST SaHTd R AT AT 3RT # FWiaeR a1 Maer # Wax

U I fodt &1 1w =18 s19 | 59 fihed o ugd unae 99 S5, TH. @1 UgAT T AT- ¢ S el

F 9 W WR, 3R ¢4 B aPpa g1’

ST T BT UgHR -1 TS TT YA BT Ik Ja1sq|
WRA: ‘d9ar fa T &7 g 32

1. G&r &1

2. TEH &I

3. IhT T

4. 3RS~ BIET T

Correct Answer :-

o RS- BREAT &7



14) gl diad! e STAHSRT 91 a1dt freraR A ERR TH. R+ 3ERR 7 1929 # gicligs ot

TP died fibed 2 die’ 3 iR 3% 1 # e fbed a9 &t 531 it | uRfY Tiw & v iy
ATCH B YR FATHY I U1 fheH P UeH YT 915 | 59 ATch & Ps M1 Ul & i ftbed A @ g
Y| TP ey H SRR A I 9ad Hel YT-'§HUR U I Jdlg aWd ot oT, Maer 781 41, Tifiaer

T AT 31 HaB! FwATd g1 At ERR A fived & T & e Tad ot ¢ gt | fived & wifta § wew

A arer-aaen, gRATEH 3R arafer &1 swHTa fhar a1 AT IRT # WideR a1 MaeR A Wda

U I fodt &1 7w =8 sT19 | 59 fihed A ugd U IS 99 S, TH. W | U1 T UT- ¢ S Fal

F 9H R WR, 3R ¢ $! ardpd g1’

ITad TR BT UgHR 12 ID T YR BT Ik Ja1gC|
WA: ‘glaigs’ fred gidl &2

1. AT 7 oot hed

2. R # &1t Whed

3. gloiigs A wel fhod

4. ol H oAl heH

Correct Answer :-

15) Ugd! Siad! e SMeWeRT s aTd fiheaaR A 36K TH. ST 3SR A 1929 H gidigs ot
TP giad! e 20t die’ & 3R I9% 79 A e fibed 991 F1 3371 o1l | R T & TP dieig
ATe® P ATYR FATHR I8I4 MU e B UeH YT FT3 | 3T ATCP & B T+ w4l & i e A o forg
Y| TP ey | SRR A I 9ad Hel YT-'THR UTH I Adle aWd ot oI, MaeR 71 41, Tifiaer
TR U1 31 B! AT g1 A1 ERR A fived & T & e T ot ¢ gt | fiveq & wifta & wegw
A arer-aaen, sRAAEH 3R arafer &1 gxawTa far a1 AT IRT # WdeR a1 MaeR # WdT
U A fodt &1 7w =8 s19 | 59 fhed A ugd unae 99 S5, TH. @1 UgdT T AT- ' S el
F 9H R WR, 3R ¢4 $t aidpad g1’

ITY TR BT UgHR 19 IR ¢ U= HT SR gd13¢|
= e T R -

1. JE3Td

2. g2l

3. facel

4. dcdHA

Correct Answer :-

16) Ugd! Siad! fhed SMEHSRT 9T aTd fiheaaR A SRR TH. ST SRR 7 1929 ¥ gidigs ot
TP Sied fieed 2 die’ 3 ok 3% 7 # el fbed 791 ) 5=31 it | uRfY Tviw & v iy
ATCH B YR TATHT I8 U1 fFeH P UeH YT TS | 59 ATcH & Ps T Ul & & fhed A o g
Y| TF ey # SRR A I 9ad HeT YT-'gHR U B3 Jdlg A et oT, Maer 7Y o1, Thaer
T AT 31 HaB! weTd g At SRR A fived & T & e Tad #t ¢F g | fived & wifla ¥ wew
A aTeI-daaT, SRAATH 3R araferd &1 SaHTd fhar T[T AT 3RT # TiaeR a1 Maer # Wax



U A fodt &1 7w =8 519 | 59 fhed A ugd unae 99 S5, TH. @1 UgdT AT AT- ' S el
F W R WR, 3R &1 $ ardpad g1’

IUYa TR B UgH 1 YD T U= $T IR 9413¢|
U FRAE fHad gt 82

1. 9ol I

2. Teh YehX &1 T

3. a6y wefid

4. 3T q g LN

Correct Answer :-

oferat Y giEt @ fARar §

AR wF o1 FT AT

qEY U #F gl

FAFHT e B

39T YGIIT T YGH A & A aTel T FT 3ca} qaqrsv|
GeeT: AT & ST Fal d&F orad & ?

1. 348 § P Al

2. 3711l § UTdTel dsh

3. Ush HGIGA A gWY HETeRl dh

4.Uh B ¥ g T T

Correct Answer :-

. T HEGY ¥ GEY AU T

18) uaft 3R s
¥ g F ST §
St UF HAFISU ¥



gAY AEY A T §

A wHST G 9T §
T g

& a 9o Ig A &
& s 3o A AT

gEY AU F ey AT F
3R g @ler gar A RA go
gferat #r giEt o e §
IR wF v FT AT

q@Y ur # Ot
FeT e B

39YFA ISHY T YGHT Al & S aTd WA FT 3ca] TASTI
Ue: AT & SRS FAT o § ?

1. RIsdr

2. qum

3. gdr

4. dR

Correct Answer :-

&7 oY Fae Ig IHd &
& T T Y A

gAY AU F gy AT §
3R a7 aler gar A RA go
oferat #r oiEt W fawer §
3R e g FT oI

q@Y aur # gl

FaART Rar B

39YFA ISHY Y YGHT Al & I I WA FT 3ca] TASTI
weaT: giel, 93, 9 # FiT AT HEAFR &7

1. JHS

2. HJUTH

3. ®Uh



4, Y

Correct Answer :-

& o Fad Ig AP &
& uF U i el

qaY AU F ey AT §
3 a7 ket ga1 A R
gfert Y gEt | RAEr
IR wF e & HIT

g@Y qur # gt
FaHT R 21

3YYFA ISHYT T YGHT AT q&F S a1 WA HT 3cad TASTI
veeT: WRer 1 qAigarh Sl ar § 2

1. 0T

2. 91

3. gaY

4. GRAS

Correct Answer :-

&7 d Fae Ig Hd &
& wF U i
GEY 3 F G Aot A
3 ag wier gar # R
gferat i giEt 9 fawar
3R e U FT W



qE & # Ot
T et B

39T YGIIRT Y IGHF A & A qTel G FT 3ca} qaqmsv|
9l ‘UgIS’ T YA S § ?

1. ey

2. 3R

3. R

4. qad

Correct Answer :-

3YYFT ISHYT T YGHT AT qF S a1 WA HT 3cc} TARTI
9eeT: ‘Iihel’ W FAT a9 & ?

1. 3T AT ST

2. 3T SATeT

3. 39 T

4. T ¥ FS w7

Correct Answer :-



gAY AEY A T §

A wHST G 9T §
T g

& a 9o Ig A &
& w3 A AT

gEY AU F ey AT §
3R a7 aler ga1 A KA gw
gferal #r giEt o faRer §
IR wF v FT AT

q@Y aur # gl
TAFT T B

39YFA TSI T YGHT Al G I I WA FT 3ca TABTI
veeT: Rafsal A wla araar § 2

1. shael greAT

2. %hdd U3

3. had dier

4. 39T el

Correct Answer :-

o 3WIad T

&7 oY Fae Ig IHd &
& T T Y A

gAY AU F gy AT §
3t a7 wler gar & R gw
oferat #r oiEt @ e §
3R e U FT oI

q@Y aur # gl

FaART Rar B

39YFA ISHY Y YGHT Al & I a1 WA FT 3ca TASTI
TR TF QA FT AT AT U # 4T aF oY far § 2
1. garer
2. 9@

3.gdl



4, 9TaAT

Correct Answer :-

&7 dY Fae Ig hd &
& uF U i

qaY AU F ey AT §
3 ag wiver gar & R
gferat $r giEl 9 f_aRar
3R e U FT WY

g@Y qur # gl
FaHY e 21

3YYFA ISHIY T YGHT AT q&F S a1 WA FT 3cad TAZTI
gee: S ST qITIarar § ?

1. &I

2. STetat

3. A9

4. G

Correct Answer :-

&7 d Fae Ig Hd &
& & U A
GEY 3 FY G Ao A
3 ag wiver gar & R
gferat Y gt 9 faTar
3R e U FT W



qE & # e
FAHT frar #

39T YGIRT T YGHF A & AW qTel T FT 3ca} qaqmsv|

Yo T§ YoYU TH AU F qE 4U fFAS ganr gguns Sl § 2
1. G2 & H1T & aRT

2. 91T & EaNT

3. 7T T

4. qferat & 9@r & ganr

Correct Answer :-

. uferat & 9@l & gann

39T YGIIRT P YGH A & A aTel T FT 3ca} qaqrsv|
9ol ‘9%’ &1 qATgar § ?

1. 9oord

2. gT&Tm

3. 919

4. 987

Correct Answer :-



gAY AEY A T §

A wHST G 9T §
T g

& a 9o Ig A &
& w3 A AT

gEY AU F ey AT §
3R a7 @ler gar A KA go
gferal #r giEt o faRer §
IR wF v FT AT

q@Y aur # gl
FaeT e B

39YFA TSI T YGHT Al G I I WA FT 3ca TABTI
yea: Oy ereg # Fle @ A §72

1. gicelar

2.3 § NG QT

3. Aq8 ferar

4. EfeiaT

Correct Answer :-

&7 oY Fae Ig IHd &
& T T Y A

gAY AU F gy AT §
3R a7 @ler gar A KA go
oferat #r oiEt @ e §
3R e U FT oI

q@Y aur # gl

FaART Rar B

39YFA ISHY Y YGHT Al & I a1 WA FT 3ca TASTI
Yol YA Hfaar 1 adE ofidw § 2
1. {31aTT & ST

2. HITATeT &l Gec2l

3.3 § FIg A6



4, g&fr 3R S

Correct Answer :-

o I & ST

A o Fad g HFa &
& T 3 Fr et

qEY & B gery Aoyl g
3 g7 aler gar & R
gferat i giEt 9 fawar
3R e U FT WY

qEY U 7 et

FAFT FRar B

3YYFA ISHIY T YGHT AT q&F S a1 WA FT 3cad TAZTI
gee: el T HF & 2
1. 9GHT FeATelT

2. [SoT=r

3. Hiepar

4, f[SfSerar

Correct Answer :-

Topic:- General Urdu(L2GU)
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Correct Answer :-
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Correct Answer :-

e/ ebhe Fu
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(Sl del
| ff_.l‘fjo;,a?' )
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Correct Answer :-

:f_.&/:fﬁ'll-;faf;,l



16)
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Correct Answer :

el

17)
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Correct Answer :-

/‘ ol -
I8 A



Y =y = éir‘é‘tf'ﬁ/.:’b .
L Ot

, s

, Ot

G

g

4.

19)

LI KL A



A .
s JJL
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EA ol -
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Correct Answer :-

;é‘d; oL

21)
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Correct Answer :-

g e e & L S

e

3.
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Correct Answer :-
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?ta.b/uf /’°5 St
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Correct Answer :-

Klas-



Correct Answer :-

by

26) -~ |
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pals
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Correct Answer :-

2l
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Correct Answer :-
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Correct Answer :-

(Jo 50l

Correct Answer :-



30) L Ef . . \
EEOU pnUTIly
Jé:’"f
Sde
2.
; L..ffi.-r;r“

4, Jug

Correct Answer :-

15

Topic:- Science (SCI)

1) If a person is not able to see an object which is at a distance more than 5m from his eye,
then the power of the corrective lens should be: /

I F§ AFT vl 3@ § 5 A F 3F gft W Bya e avg # 3@ &
Hate gl g, Ot W ow A afFa g ke

1.-0.2D
2.5D
3.-0.5D

4.2D

Correct Answer :-

« -0.2D
2) What is roughage? / T&TIeT AT 1 &7

1. Vegetables / feorar



2. Grains / 3ToIToT
3. Fruits / el

4. Food fibre / XXM TS

Correct Answer :-

« Food fibre / YR 3T

3) What is the principle behind the ball bearing? /
aid AR & NS a1 gy &2
1. Sliding friction is greater than the static friction. AL CE 1EI"ﬁ'UT, s gy I 30w %I

2. Rolling friction is greater than the sliding friction. / feldl gyuT fhgere arel gvur §
31fe giar gl

3. Rolling friction is less than the sliding friction. / UfolaT gYuT fhgcler arel YT & &H ?fl?—ll
gl

4. Friction increases the speed of rotation. /EI'@'UT T YA T 1fad 9¢ JATar %\’I

Correct Answer :-

» Rolling friction is less than the sliding friction. / ATl gyuT fhaelel dTel OYUT & e €I<'-|I
gl

4) What are the crops grown during the rabi season? /
W Atgd & e Fla @ vaa Fon$ I @2

1. Blackgram and soya bean / &Tel Iat 3R GRT T
2. Wheat and mustard /fliu IR TTar

3. Maize and pigeon pea / #&HT 3 3RE

4. Paddy and cotton / €ITeT 33X &91@

Correct Answer :-

+ Wheat and mustard /'fl'éi 3T gyar

5) Sickle cell anaemia is a disease that is i

& FIRAPT 3FTaT v fHAN § S gt Bl

1. infectious / TshTHS



2. developed through vectors / UeTaTgesh o ATEIH O [Aad
3. inherited / 3-11?13%

4. non infectious / 3 THTHSR

Correct Answer :-

« inherited / 3ﬂ§af§1$

6) Stainless steel vessels are provided with copper bottoms because: /

FAoH FOT F T d19 F IMUR F 7T R a9 § F4ifF:

1. It gives a good appearance to the vessel / Ig §deT &l 31T fe@rdr gl

2. Stainless steel is a better conductor than copper / Tl Tl ars &r Jeledl H 98X
TagH gl

3. Copper is a better conductor than stainless steel / cl';fq{, TeTold TETel I Jeledl p=§ G\IS('N
Hags gl
4. Copper expands more than stainless steel/quq{, L&A Il &I 396TT 37T theldr

gl

Correct Answer :-

« Copper is a better conductor than stainless steel/chTLN, Teaolg Tl &l Jelel H &sd{
Hags

7) When a light undergoes reflection, the velocity of the reflected light is always: /
9 U YT ST @ e g, fafRa ywer #1 a9 @i I o
1. Less than the velocity of the incident Iight/mﬁﬁ ehI & T F &

2. Equal to the velocity of the incident light / 3afad 9eh1er & I & FHAT

3. Greater than the velocity of the incident light / 3Tafdd Jeprer & a1 I3+

4, Depending on the material of the reflecting surface / gfafsfed adg & ggrd W AR
AT &

Correct Answer :-

« Equal to the velocity of the incident light / 3Tafdd Fehrer & a9 & THTA

8) Select the correct unit of energy in terms of the unit of current. /

fega #t 5% & wael A I A W THE FT AT F



1. VAs

2. VAZ%s
3. V2As
4, VAs?

Correct Answer :-

e VAs

9) Which of the following is not the unit of work? /
Arfaf@a & @ F1 FF Y sHE 67 &2
1. Newton metre / #gcdl Hrex

2. Joule/\_rl;a

3. Erg / TV
4. Joule/second / S@/AHS

Correct Answer :-

« Joule/second / S[A/THS

10) Electroscope is a device used to: /

SAFCITHIT IYHIOT T 39ANT o faw fvar srar §:

1. Test the conductivity of a material /

Ush FTHIT HI ATelehdl T GUETUT Flad & ol

2. Measure the current in an electrical circuit /
faega aRoy & grr 1 A & fv
3. Measure the voltage across an electrical appliance /
U faegd YR R A dlecst F A9 & faw
4. Detect the presence of electric charge on a charged body /

Teh AR e W fdegd 3maer &1 3ufFAfd &1 qar o9 & faw

Correct Answer :-

» Detect the presence of electric charge on a charged body /

Teh AR A 9 faegd 3maer v 39feufd &1 9a1 oeme & fou



11) Earthquakes can never cause: /

T & HROT 3N 3t g E @ wRar:

1. Lightning and thunder / df3d 3R AERTSI

2. Tsunami / ﬂﬂﬂ:ﬂ'
3. Landslides / 343—'@?»5[

4. Flood /dTg

Correct Answer :-

« Lightning and thunder / dfsd 3R AEITS

12) As mass is related to beam balance, the temperature is related to: /

o9 R geaae d W & HEftd @ar 8, 3@ gER arEe & defta @
1. Kelvin / Shfedel

2. Barometer / SRT#HTEY

3. Thermometer / THTHTET

4, Heat / 3SHT

Correct Answer :-

« Thermometer / JHAHI

13) The correct statement among the following is: / A& & ¥ WE FU §:

1. Dry ammonia has no effect on litmus paper / S AT Fr foled T IR W Fig IHT
gl gsdr

2. Curd is basic in composition / cor TASTT H &I %

3. Solution of glucose in water is acidic / 9Teil & doj\ch\ld Fr AerdeT 3FelT &

4. HCl is a weak acid / HCl Teh goiel 31FeT §

Correct Answer :-

« Dry ammonia has no effect on litmus paper / ASh IAAIT &7 foeAad I WX aﬁé JHTT
Tl Isdr

14) The amount of heat produced in a metal wire depends on the: /



TF U F aR A Iearfed FeAT Ay AT e WA w8
1. Atmospheric pressure / a’raom?s’ahtr ald

2. Atmospheric humidity / EI'I'{ID?:B@'J 3T

3. Atmospheric temperature / aqﬂgrsﬁ'zr A9 HTeT

4. Current passing through the wire. / AR & Yalfed ORT WX

Correct Answer :-

« Current passing through the wire. / dX & JdIfgd &RT U

15) Sugar can be extracted from its aqueous solution by: /

St FY gwE T AT W R gan Prewfa B a1 e §
1. Chromatography / SIHCIITHT

2. Distillation / 3THdeT

3. Evaporation / dTS4IehioT

4, Filtration / T ¥desT

Correct Answer :-

« Evaporation / arsdiehor

16) Magnitude of displacement in one second is called: /
TH dhs A g are ey & afkAr Fr Fer S §
1. Acceleration / 0T

2. Momentum / 37397

3. Speed / dTel

4, Force / &of

Correct Answer :-

o Speed / dTel

17) Calculate percentage of nitrogen in ammonium sulphate. /

IAAIT Fohe H ABeSd & gfaerd Y Jorar HI

1. 28%



2.36%
3.6.02%

4.21.2%

Correct Answer :-

e 21.2%

18) Sulphur and oxygen atoms combine together in the ratio of 2:3 by mass to form an
oxide. What will be the correct formula of the oxide?
[Atomic masses: S =32 u, O =16u] /

FeRT IR JfFdisreT WA oF JHFEEs 9= & v geaae qanT 2:3 & eard #
TF g & W A @1 &1 TS oA gy v gem?

[IXHATY geqATeT: S =32 u, O =16u]
1. S,05
2. S350,
3. S04

4, SO3

Correct Answer :-

19) Which type of energy transformation takes place when fuel is burnt? /

$UT FAAT I W R PR FT FAT TIEI0T T 82

1. Chemical energy is converted into heat energy. / THTI A Foll, 35HT Faf § gRafad
gl Sircil &

2. Chemical energy is converted into mechanical energy. / TS Foil, ATTAH Foll
aRafdd g e &

3. Heat energy is converted into chemical energy. / FSHIT Fail, TAAAS Fail H gRafdd
gl Sirclr &

4. Heat energy is converted into mechanical energy. / FSHIZI Folt, i ot & gRafda &
ST B

Correct Answer :-

« Chemical energy is converted into heat energy. / T TeIeh Foll, 3SHT FoT § gRafad
gl Sircil &



20) Which one of the following will take the shape of an open container in which it is kept?
/

famafaf@a & @ #41 vF ga 99 A @A W 3HH HHER & WM
1. Lemon juice. / F—ﬂ_c{\ T |

2. Ice cubes. /| % & gﬂ%l

3. Chilly powder. / f&=T 91333

4. Oxygen gas. / 3TaaTeteT 3|

Correct Answer :-

« Lemon juice. / a_-ﬂ_cj'\a'Tf 4|

21) Which of the following is weed. /
frrafaf@a # ¥ Fl7 =gaar #
1. Xanthium only / Hhael ST

2. All the above / 3URerd HHY

3. Grass only / shdel o

4. Parthenium only / Fael grffazs

Correct Answer :-

o All the above / 3TRIFd T

22) Which is a set of transparent material? /
uReedt @EElt 1w e Fia-ar §?

1. Water and air / 9=t 31T gar

2. Turmeric powder and water / ool Ur3sY 3R Tr=T
3. Alum and water / fheadl 3R 9=iT

4. Charcoal and water / TRehlel 3R TTeir

Correct Answer :-

« Water and air / 9r=iT 3R gar



23) One of the statements made about the formation of soil is inappropriate. Identify the
same. /

&t & faor & a7 Ru 7o Fyat & § v iR 81 T sy aa
1. Strong winds do not play any part in the erosion of rocks. /

dS §AIU Tl & werd H Hlg iR g e §
2. Fast flowing water carries big and small rock particles and these rub against other rocks. /

del §gaT g, 93 3R B Teer Ul @ of ST § 3R T 3T uceE & W3
or Srd gl

3. Water gets into the cracks in the rocks formed during uneven heating. When the water freezes,

it would widen the cracks./

AT A & GRIT &l Teerel & IR # 9l g8 Sl g1 STe 9=l ST Sl g,
dr 388 I @i g S B

4. Due to the exposure to sun, all the parts of the rock do not expand and contract at the same
time, cracks are formed and rocks break up. /

IST & IS H 0o & HNRUT, U & Ffl GEAT 1 TE@0T g g § 3N FA
diR @ ol 9T 7 UET & gl & HRUTEIN & Sl 8 3R "ees ¢ Srdr 2l

Correct Answer :-

« Strong winds do not play any part in the erosion of rocks. /

oISl §ATU TeclHl & sherd H HIS HfAS T8I e §1

24) is used for making mirrors. /

o g gor e ¥ T R o
1. Silver / @y

2. Carbon / STeleT

3. Sodium / Af3TH

4, Sulphur / eI

Correct Answer :-

« Silver / dler

25) Which acid is used in Storage Batteries which supply electrical energy? /

fRega a1 # arqfd o arelt wRer IRt F fFw swa w1 39AhT gar @2



1. Nitric acid / Asfes 315t

2. Hydrochloric acid / gi8gierailiReh 3Fel

3. Acetic acid / Tdifes 3¢

4. Sulphuric acid./ TeFgRe 3Fel

Correct Answer :-

+ Sulphuric acid./ HeFIR® 37Fel

26) Which gas is pumped into plastic bags containing food items fried in oils and ghee so as to slow
down the oxidation of oils and fats? /

as 3R o F @ gU weF vard F corieed XA A dw A’ Fw F T B A F@ F
for fre 3w =t wfee frar smar &2

1. COy
2. SO,
3. Ny
4. Hy

Correct Answer :-

- N,

27) What is the common name of chemical NaHCO3? / TAT™ITA&® NaHCO;
HT AHAT ATH F4T §?

1. Lime soda / I &1 HIST (TSH HIST)

2. Washing soda / [ell$ &7 ST (a1 Hs)
3. Caustic soda / STf€ca HIST

4. Baking soda / @TeY T @YST (SfFHeT AQYsT)

Correct Answer :-

. Baking soda / @TeY &7 ST (SfhaT AYST)

28) What is the name of the ion with the formula Cl103~? /



A ClO;~ Tl UF A & AT F4T 87
1. Perchlorate / GReFelRC

2. Hypochlorite / g8ulFelRISc
3. Chlorate / FellRT

4. Chloride / FeIR1SS

Correct Answer :-

. Chlorate / FeliRc

29) Which of the following is a disadvantage of improvised science lab

apparatus? / AFfaf@a & & #la H arcwfes @A gIereamer 3uson
&1 gifer &2

1. Easily available / 3TTHTAT & 3UeTsd

2. Provides cheap alternative raw materials /QZR—T-T dehfedeh shed HTel YcTe
LT B

3. Have good educational value / 3I<&] IFRED Hqe ETI
4. Not durable / &I 8T

Correct Answer :-

. Not durable / &1z a'é?r

30) Which of the following abilities is not a characteristic of a scientific

problem solver? / f@FIfaf@d & & &l & a1HaT dfas 78T g A
gt Y fadwar A8 2

1. Validation of results / GRUTTHT a7 JHTUfIOT

2. Isolate and control the variables / Erulk o C([?EF IR FIla s
3. Convergent thinking / 31fRERY idsT

4. Think aloud / Mg faTX cTeFd Tl

Correct Answer :-

. Convergent thinking / 3f&ARY =IdeT



31) Which of the following is an example of inference? / feTfaf@d 7
FlT AT AT ($959) FT T 3G 52

1. Cactus has modified leaves in the form of thorns. / hefeqd & Il & T H
s Ryt g £

2. Tides are caused due to the moon’s gravitation. / SAR-HTCT TGHT
I&cdlehyT & HROT gl gl

3. Electrolysis of water produces hydrogen and oxygen gases on two different

electrodes. / STeT T TG 3TTEC a1 TeIT-37elT SaFCIST TR T3gotet
3R 3rdrSaT T FT 3curesT AT gl

4. Electrical appliances only work when supplied with electric current. / ﬁ'&gﬁ
39U Shdel o BT I ¢ SId A TaIg & Y el & Sl
gl

Correct Answer :-

. Tides are caused due to the moon’s gravitation. / SdI-HTC] TJSHAT &
IEcAThYUT & HROT BT &

32) Identify the lustrous non-metal. /
TARER YT T TgdTeT HI|

1. Phosphorous / BIABRE

2. Carbon / ShTelel

3. lodine / 3TATSIA

4. Sulphur / eI

Correct Answer :-

. lodine / 3T

33) A pendulum makes 20 oscillations in 10 seconds, then the period and
frequency of oscillation are respectively /

TS Ugerd 10 Ahs A 20 el FIAT &, aF aeler A g AR afer waw: §

1.2s & 2 s hertz



2.2s & Y. hertz
3.2 s & ¥ hertz

4.% s & 2 hertz

Correct Answer :-

« 25 & 2 hertz

34) There are 20 naturally occurring amino acids. Out of these, 9 are essential and 11 are
non-essential. What are essential amino acids? /

UFHfaF T ¥ 3cTe g1 are TR 3Fd 20 THR & g §1 51 @ 9 TaeTF IR
11 IHETF BT &1 HETF THAAY 3FaT FIT T &7

1. It must come through diet/ 38 38R &I fg&dT gl AT
2. It is made in our body / 3HeT AT gAR R H g1 &
3. It is more important than non-essential / Jg 37ATaTH & Tl ¥+ H%TCI'CLUT gd &

4. Essential for body / TRR & forg sira=as

Correct Answer :-

« It must come through diet/ 38 3TgR &1 @&aT g1 AT

35) When we strike the membrane of a mridangam, the sound we hear is the
sound produced by the ./

o9 g FEIA Y reel W gER F ¢, g7 o eafw gaa € aw @Rt
fafda eafar 21

1. membrane only / hddl TSTeall

2. the drum stick / 37 e

3. whole body of the instrument / SEEHC &I QU fAepr

4. body other than the membrane / Beall & 3famar AT

Correct Answer :-
« whole body of the instrument/é&ﬁ? T IGEIE]

36) If the secondary consumer receives 10 KJ of energy ,what would be the energy at
the level of producers ? /

gfe fgdiae Iuvier 10 fFraia Sl UTe 41 3, @ IATGH! & TR W Sl fed- grft?



1. 1KJ/ 1 fohraiteler
2. 1000 KJ / 1000 Teheltsfer

3. 10,000 KJ / 10,000 fehefioter
4. 100 KJ / 100 feheltofer

Correct Answer :-

» 1000 KJ / 1000 fércitsfer

37) An electric current of 2A is flowing through a conductor for 10 minutes. What is the
net charge of the conductor?/

10 et & AT ve Waws & Aead & 2A i RAgga URT vared @id §1 gawF
HT Yy A fraar g2

1. 20C
2. 1200C
3.0.02C

4.0C

Correct Answer :-

38) When the wrist watch shows 8.10 am, the odometer of the vehicle shows 8484 km.
When the watch shows 8.40 am, the odometer shows 8500km. What will be the speed of
thecar? /

afe FATS gSt YI§ & 8.10 Tol BT GHY SRl 3 3R 3T GHY d16+ &7 SNsHler
8484 i, fearar 31 9l uS) Jag & 8.40 go &1 JHY @™ § 3R shishfiex
8500 . feamar 8, @ R @t ara fpa-t g2

1. 64km/h / 64 TRal/EeT
2.32km/h / 32 frdY/Eer
3. 16km/h / 16 foral/ger

4. 18km/h / 18 TRaI/ger

Correct Answer :-

« 32km/h / 32 fRal/Eer

39) 220V, 50 Hz ac is converted into 110V dc. The frequency of the dcis: /



220V, 50Hz T # 110V SRt A ufvafda frar wirar 81 SA 35 smafv @:
1. 25 Hz

2. 50 Hz

3.220 Hz

4. 0 Hz

Correct Answer :-

e« OHz

40) Four different liquids such as mercury, water, soap solution and honey are kept in
four different vessels. Which of them will show greater temperature? /

AR HET-ST USIdf & avel S URT, U, A9 fAaauq 3R 1eg &1 AR S(eT-3e[ T Ja-1 & 3T
1T g1 379 A DiF-97 it araur faamgm?

1. Honey / 1@<

2. All will have the same temperature / G &I THTT A9 g1
3. Mercury / 9RT

4. Water / 91T

Correct Answer :-

« All will have the same temperature / T3 FT AT dTIHT gl

41) Human ear can respond or sense the sound which has a frequency range /

AT FTf, et H FoT AT 38 | gfafkar & aFar § S smgfr Aof g &
1.2 Hzto 20 Hz /2 §¢T & 20 §&oT doh

2. 2Hz to 20 kHz / 2 §eoT & 20 fohellgest o

3. 20 kHz to 20,000kHz / 20 fohreligest & 20,000 fheiigcst

4.20 Hz to 20 kHz / 20 g¢of & 20 Tohellgest do

Correct Answer :-

« 20Hzto 20 kHz/ 20 gcof & 20 fohellgest o

42) Identify the component of the biosphere that is biotic /

SqHUSH & Sifde UcHh Bl Ugd Hiog



1. Soil / Hal
2. Air / &dl
3, Living Things / Sifad oy

4. Water / STl

Correct Answer :-

« Living Things / Sifad a¥qy

43) Which group of organisms are not constituents of a food chain?
i. frog, snake, eagle, grass hopper, grass.

ii. grass, lion, rabbit, wolf.

iii. fish, plankton, grass hopper, man.

iv. snake, grass, tiger, wolf.

Sl &1 B A1 g WIel YT HT TUeH T8I 32
i. He®, Tiv, 1o, fegr, a9

ii. U9, TR, TWINE, Wisar

iii. TS, wWa®, fegr, smer

iv. iU, 9, 919, 9fsan
1.iandiv/i 3R iv

2.iandii /i 3R ii

3. iii and iv / iii 3R iv

4. i and iii / ii 3R jii

Correct Answer :-

« i and iv / iii 3R iv

44) The time difference between the actual sunset and apparent sun set is about: /
IR i iR MUK qaivd & §i 9 &7 3R ayT fFa g

1. Half minute/ 3TT8IT @

2. 2 minutes / 2 fAsIc

3. 5 minutes / 5 A+

4.2 seconds /2 Ahg

Correct Answer :-

« 2 minutes /2 f&ade



45) Autotrophs synthesize 10,000 KJ of energy. If the food chain consists of
four trophic levels what is the energy available to the fourth trophic level? /

WUIYS (3MEIEIw) SHoit & 10,000 fHalare o Gafld e 8| afe e gaer &
IR NifYFdr (Shd) TR 8id & df A Ni¥HT (eifbd) TR WR Sl fhd-l gidl 82

1. 1KJ

2. 1000KJ
3. 100KJ
4, 10KJ

Correct Answer :-

« 10KJ

46) Technology should be used as a by the teacher for teaching-

learning process. / Rreror-erftrma ufssar af ﬁl’Q Th e & gRT___
P 9 & M &1 IuAT v fomar s Tifee|

1. tool / 39T (o)
2. subject / Tawg
3. substitute for teaching / fQT&FUT & ﬁ’lﬁ EIIG IR

4. driver / dlcich (QIdX)

Correct Answer :-

« tool / 3UhIUT (o)

47) During World Wars, massive industrial progress occurred. This shows

that: / faY T & R, I8 UM R e waifa g31 98 21t g f:

1. Science responds to the needs of society. / fa<ileT, THATST FI 3T QAT hr
gfaferar &ar gl

2. Science responds to the desires of society. / fa=Te, AT I TSI Hr
gfafear gar &

3. Science works for the benefit of society. / ﬁ?ﬂ?l', AT & ol & T &
T gl

4. Science brings progress to society only. / fa=iTel, hael THTST H YT ol gl



Correct Answer :-

« Science responds to the needs of society. / AT, AT Fr 91T QIhdT3T hr
gfaferar &ar gl

48) A law describes a/an .1 0% g9, e T U HdT
gl

1. set of interconnected principles / GTEI @Eﬁﬂ?ﬂ' Hl AT
2. abstract idea / 34?4‘3-‘[ IERIES

3. single phenomenon / Tehel "TAT

4. set of phenomenon / YcHl & Uc

Correct Answer :-

. single phenomenon / Tchel YT

49) Which of the place is more safe at the time of lightning? /
afta & wug i @ s IfNE giiEa 82
1. Open fields / E_I’FT SE]

2. Open vehicles / lgﬁ CIRG]

3. Inside a vehicle with all windows and doors shut / T T@sfear 31T elarar §¢ aror ags
& IR

4. Elevated place / 3dT T

Correct Answer :-

« Inside a vehicle with all windows and doors shut / T T@sfRar 3R eydrel §¢ drel dlgedd
& IR

50) Using a science park visit is an example of : / fa3T9 UTdh & AIAT BT,
39 YT HT TH IS8T B:

1. Experimental learning / 9Tafate 31f&emsT
2. Collaborative learning / TgARMcHAS 3TTAITH

3. Analogy strategy learning / TTE2T 0T 3TTETH



4. Rote learning / ey 3T

Correct Answer :-

. Experimental learning / 9ra{aTeh 3T9m

51) Formulating policies, monitoring the effects of policies, enforcing
compliance with the policies, demonstrating accountability, making

comparisons and monitoring progress towards goals are conducted at: / ifaar
qetell, Afaal & wormal 1 IR e, Afeat #1 separerer @y %,
SaTaee! Fafdid HTT, o #ar AR dedt & gfa gorfa i e
AT g W Imafoa 7 s &

1. District Levels only / shael TSl T W
2. All of the above / B'Q'?flail'?f gAY

3. National Levels only / shdel TSI TRI TR
4. State Levels only / hael Teod TR WX

Correct Answer :-

« All of the above/ﬂ'?flpil'?f gAY

52) An advanced technique to improve thinking and problem solving-skills
comprises of decomposition, i.e. breaking large problems into small units, is

known as: / T¥ 3R AT H YA & DI A JUR HH & fog, T
3Id de-1e § faaer gHrflRE g g fF Sid geeal & a3t gaansh &)
a1, I A= g1 91T 8:

1. Context-Based Learning/ HcaT-3menRa 3ifeerer
2. Computational Thinking/  3TTHeheldTcHS ideT
3. Crossover Learning / ira3ay 3feers

4. Embodied Learning / Hieeligd 3feers

Correct Answer :-

. Computational Thinking/ 31T holellcH Ridel



Evaluation can be done for all of the following objectives, Except: /

& o, At gt sexal & fore geuie forar o 9oar gl
1. To know about the learning gaps in students. / BTN # AIH ATl & TR
H Sleted
2. To identify the students who require remediation. / 35T ©Tal $I Ggdlel el
St 3T A 3maTHhar §

3. To get evidences to know the extent of a student’s learning. / fdt ®F & SffenH
Dt T S & foIT JHT07 UTed A

4. To give performance feedback to students. / S & YerH W ufdfear &

Correct Answer :-

« To identify the students who require remediation. / 3¢ ST ST Ggdlel el
fSiee 39AR &7 3TTTSRAT §

54) Which of the following should a teacher avoid while encouraging students

to develop problem solving skills? /| JHYT gl I P HIYd b faesfid
mﬁ%mgmﬁﬁﬁmamﬂﬁwﬁmﬁﬁmﬁ
CERI ?

1. Provide prescriptive hints to students. / STl &I fAG2McHEP Thd TG FATI
2. Encourage students to question. / &TAl @I 92T il & foIT gicarfgd Tl

3. Design various types of problems. / HHEITHT & [affesT YR I 3184
|

4. Design problems to generate cognitive conflict. / HaTellcdS TEY 3cUool el
& forT gaTar f3ars ST

Correct Answer :-

. Provide prescriptive hints to students. / ©T3l I fI¢eTcHAd Hohd IGTeT hiaiT|

55) Elephantiasis is caused by: /
Hreuig A& & FROT g &
1. Worms / hIg

2. Mosquito / AT

3. Protozoa / FIEISAI3IT



4. Bacteria / SSFEITAT

Correct Answer :-

. Worms/EﬁI'g

56) Megha scores well in physics. Sneha is equally good at the subject but is
unable to score well in school. She is most probably lacking in JJHET
sifahY A 3= 31 urca frwl e Y 39 vy 7 st 3T & =S &
AfFe RgaeT # 38 3F dvg =S & JGAY g g9qd: T7 )
a8 FAAN 2

1. Conceptual knowledge / HeoheUallcHeh FTal

2. Procedural knowledge / IfshdTcHe ATl

3. Factual knowledge / d¥qTcAS FATed

4. Metacognitive knowledge / HETAATolIcHS To]

Correct Answer :-

. Metacognitive knowledge / HETHATTcHS 1]

57) Which of the following statements reflect a shift in pedagogy after
implementation of NCF-2005? / TaTHIU®%-2005 & FEATeadsl & AT

Arfaf@a & @ sl a1 a4 RNemnes & agaT 1 cuiar 2

1. Teaching should focus on specific disciplines./ f1&0T r fafrse fawat ¥
€T higd AT ART

2. Assessment should be continuous. / 3Teholed [ glo_-ll ﬂli%Q |

3. The teacher guides and monitors the class. / T8t FmeTr T FI'I?ﬁZ'.'QiFI' 3R
GECGMECTG IR

4. Written tests are the only method of assessment./ fof@a adrem , 3TTeholeT hr
AT fafdr g

Correct Answer :-

. Assessment should be continuous. / R IC T GIRGE L glo_-ll ﬂli%Q |



Which of the following is false about audio tapes as teaching aids? /
fArafaf@a & @ Fia Reror g & & F JEA 20 & {Awy F g
e

1. They can be reproduced easily. / 3o 3T & g e ThAT ST GohdTT &
2. They are portable. / ¥ HATed (Wéaen) gt Bl

3. They are expensive. / g EFIE?T Eﬁ?f %I

4. They can help visually impaired students. / d TSCSITAT SEAT I FAGE I
TSI
Correct Answer :-

« They are expensive. / d #Ag g &1

59) Which one of the following Organic acids is present in Spinach? /

fRf@a # ¥ Sl a1 FefAF 3Fd, ITdae H 9T Sar 82

1. Tartaric acid. / eReRe 3TFdT|
2. Malic acid. / Afele 31|

3. Citric acid. / HT8feeh 3%l

4. Oxalic acid. / 3iTFATToIeh 31F|

Correct Answer :-

« Oxalic acid. / 3{T&gTTaI 3F|

60) Even though sponge is a solid we are able to compress it and change its shape. Why? /

Al T vF B ¢, & 3 WFRa F 3R 3uF WER F agew A waA
FI1?

1. Particles in sponge are closely packed. / TIT & HUT HHICEY ¢ H gl g

2. Sponge is a pseudo solid. / FIST Th BGH OIF g
3. Sponge is a super cooled liquid. / T T 3ifa-efider ga gl

4. Sponge has small holes with air trapped in them. / TS & BIc-BIc TOal H gar wAr giar
gl

Correct Answer :-



« Sponge has small holes with air trapped in them. / TIST & BIc-OIc gl & gar wAr gidr
gl



